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Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

(7,2,5), (0,—6,7), (6,—4,6)

(8,3,-2), (-2,1,4), (5,0,7)

(—6,6,—4), (—6,6,—1), (=7,—3,7)

(8,-5,-9), (3,2,-6), (3,7,4)

(1,-5,9), (0,—4,-1), (-3,9,—4)

(—4,-5,9), (2,—6,-2), (3,—4,—5)

(5,8,—1), (—=9,0,2), (6,5,3)

(8,2,6), (6,—1,5), (—6,8,5)

(9,-2,—4), (-2,8,0), (—6,—8,-9)

(0,7,1), (—6,—4,—4), (-3,5,-1)

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

(1,-3,5), (=5,7,9), (8,—1,6)

(—=2,-9,-2), (-2,-9,2), (—4,—4,0)

(7,-5,2), (4,1,-2), (-7,1,-3)

(0,7,—6), (4,-9,-1), (-3,2,2)

(1,-5,-9), (0,6,-7), (3,3,2)

(=7,5,-8), (-7,3,9), (—4,8,6)

(—4,0,1), (6,—4,1), (4,0,4)

(9,4,7), (8,—4,—6), (6,—9,0)

(6,-7,—7), (—4,0,-3), (—8,—8,-2)

(5,7,-9), (=9,-7,0), (-3,—4,5)
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A6
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A8

A9

A.10

Az + 5y + 34z = 208

y+z2=7

9 —y = —60

11z + 10y — 52 = 83

1272 + 27y — 10z = —98

25+ Ty + 132 = —18

23x — 59y — 50z = —307

3x 4+ 4y — 182 = —76

26z + 115y — 2162 = 868

doe+y—T2=0

A1l

A2

A3

A4

A.15

A.16

A7

A18

A.19

A.20

x4+ 1Ty — 412 = —255

or + 2y = =28

6x — 41y — 66z = 115

103z + 47y 4+ 682z = =79

Tr4+y—2z=20

79x — bly — 6z = —760

6z + 15y — 162 = —40

113z — 32y + 112 = 966

132 — 2y + 362 = —160

97x — 124y — 42z = =5



